I\ T DILIE - K BERFEEIK [ =@ =
SM54E6 A

I R (ffM541A8~5A8)

1 05 (FGEIL) OFRLEKRRE (TEME)

(1) DERLELE EHE

Z MR T W H
SH5E1A~58 | iR | BHE(%) | $F5E1A~568 | piERML | iRz (%)

7 18, 354 +2, 596 +16 402 -48 -11

(2) FELFORELEWRET (B

TMEE1A~6A | fiERHALL | BEE (%) | FHMSF1A~58 | siERSL | BEREE (%)
BAZR 1, 361 +208 +18 42 +20 +91
(>BEBHREBAR) 542 +36 = 15 +4 +36
BEESE 255 -125 -33 3 -1 -25
L ¥ 35 -1 -3 1 +1 +100
A—bN1IE 259 +59 +30 2 -2 =50
BEEESR 3,800 +1, 036 +37 107 +38 +55
Bmi 5Ly 507 -76 -13 7 -6 -46
EEhsK 617 +52 +9 14 -6 -30
058 161 +40 +33 1 -3 +0
174 EERR 8 +0 +0
hslE 2,612 +267 +11 52 -5 -9
& &t 9, 607 +1, 460 +18 243 +36 +17
<ELILFEREGHOEREL (1 A~5H) >
+120
+100 7
+80
+60 ]
+20 -
10 T !‘_5%1* e e [ E | % I s T |
A% se;i;%f emea | ma |7 L7 | amms (mansu |[sresu| wem | smes | wsix
[mErE I 22 11 4 0 4 69 20 10 8 57
BHF5E 42 15 3 1 2 107 14 7 8 52
2 TEER (ABEH OFRLEKR (B
SHM5FE1A~5A RTEEFEHALL | B4R (%)
% T 1 -2 -67
HE & 3 +1 +50
B & 242 +34 +10
2 5 246 +33 +8




I HETRIOLFERLERR (FFI5F1A~5A)

SHLEIENLRE

B & a3 [ memm B |BAS E2us BEEE|f-vrz| g sansn|Ernsn| FE1= | s | MI0TE S
BHT 9| -1 4 1 2 1
iA=L +0 0
il ey BT 2 +0 2 1 1
=Ly 1 =8 1 1
FIEREM -1 0
JEEET 1 +1 0
R HT 28 -6 17 4 2 10 1
S ZRHT 5 A 4 1 2 1
5t ET 1 -5 5 3 2
=] 23 -10ff 19 2 1 6 4 5 1
E3EL) 12 +1 8 1 1 3 1 1 1
FHUILET 1 = 1 1
b1 2 -14 2 1 1
F+ X HT 2 +0 2 2
7 EHET 14 +1 10 1 4 1 4
FrEAET 2 -1 1 1
FRHTHT -2 0
76 Il AT BT 1 +0 1 1
BBl BT +0 0
Il ERET -1 0
At 1Ly BT 1 -1 0
= AR HT — 0
KT -1 0
LI BT +0 0
E&HT 3 -1 0
EEHT 15 +2 6 5 1
R IEHT +0 0
FRBRHT 1 +1 1 1
BR A& AN ET 9 +5 1 1 6
R FNHET 5 +5 4 3 1
K EHHT 4 +2 2 1 1 1
i BT 4 = 2 2
iEFN) 19 +11 15 15
=) 3 -5 1 1
FHAEET 3 +1 2 1 1
RILHET = 0
1€/ RHET -1 0
/INZHT 1 +1 1 1
SRET 2 +2 1 1
B ot BT 3 -4 2 2
FaHET 5 +3 2 1 1 1
ZIET 17 +0f 12 1 1 8 1 1
18 | LI BT 12 -10 1 2 3 1 1
EE=L) 5 — 5 3 2
AT 4 +3 1 1
A LLET 2 -1 1 1
s ErET +0 0
F w7 1 — 1 1
ZRAKHT 2 +2 2 1 1
EE Ly 10 +1 5 2 2 1 2
HRET 3 +0 2 1 1
Z AR AREET 8 ) 3 2 1




o]
cf

SLIELE

A | BEA R gt @A | s |anwalsic aus| wanso| sreso| 530% | wE |05 e
=mZmm| 18] 5| 13 2 1
=mzwam| 6| -3 2 2
=R ERET 4 +0 1 1
=mzmmm| 3| 2| i i
AT of -2 3 3
Tl f =] 4 2 2 il
b 7 A i
5 34T | +ti| do | 1| 5| 2| 1| 1
ST 3 I
AT 6| 2| 4| 4|
AT +0| o
AT 7] I I
RIT =]
/7 BT o | 1| 1|
T i 3] o
I BAT 1 ] i
HAT 9 o
ST 77 ] L 8 6
Ay -1l o
S8 /NI 6 | 6| 2| 2 il
N a6 2 i i
B AT 7] ] I
4R =]
e )
BT B3] +6] 5| 5| 3

T L AR O BT L ARG B AR BT

FIASERRII SRR EMARO—ERZMmBI L FT !
SH4F4AR 2 !

P FRR A SRARIE
EBAFRENR

)

.

P

7

LT NOTHSFE DR FFERFEEHRIT294-T.

SH2FEOSHMSFI6EI"IEM ! !

AR R B EREL T, ELELLS ! !

@FFERFEON SR (D MEREE R @ AEHETHERE

* % kXFRF k * *x
RITHREED BREEFE R R Tl 6 5 Rl LSS
Fr=E i1 8 MU LD EFDHFDEAR

% % x FHBHEE % * %

AN 25D1 (EFE7,000M. 1 OFKFIHET)

@ O F 7= i Z@OBEEEHS K & 7z [F5E R




KEFE m>

/‘U BOTERLREER 78118 (J0)~208GF)

OBEHBEDANILX Y FEREREIL—IVETORIE

m =

I MAZEERASEROORESSE ($HI5F1A~5A8)

ma | wu [meeye B ma | gy |wee Bl
BET 8 -5 8 B o H BT 1 +0 1
fEE T 1 +0 1 G} 2 +1 2
AR AT 4 +1 Al |zwmiEr 8 -2 8
I ET 3 -3 3| | 9 +2 8
FEEEAT 0 -1 EAE 4 +1 4
ERAT 2 +2 2| e 2 -1 2
BT 13 +9 13| |Kufr 1 +0 1
& 2T 8 +4 8| |mmEr 0 +0
& sth BT 5 +1 4| |EsmEr 8 +2 8
EEL] 9 -3 9| |=#&KET 2 +0 2
% B AT 7 -2 7| |xEE 3 +3 3
$HLLET 1 +0 1 1RET 2 -1 2
st R T 7 +3 1| =&k 1 -2 1
£ KA of =o0 = AR 3 +2 3
7 F AT 3 -2 3| |[=ammoer 0 -3
FrBARET 2 +2 2 = AR BT 0 -4
BT of =0 = AR 6 +0 6
75 3| AT AT of =0 = HRET 14 -8 14
BRI AT of =0 BEHT 11 +3 11
S| SR 2 +2 2| |FReer 2 -2 2
At LI BT 3 +3 3 =Eadil] 4 +1 4
= AR of =0 R FHET 1 -2 1
K FE AT 2 +1 2| |ssmeEr 3 -1 3
L5 BT of =0 FERTAT 3 +3 3
T3 5 +2 5|  |mumEr 3 -1 3
AT 4 +2 4l |1BuEr 2 -1 2
kB AT 2 +1 1 5,4 A BT 2 +0 2
SR BAHT 3 +1 3| |sEmEr 2| =0 2
B34 AT of =0 Il SET o] =0f
FR AT 1 +0 1 FES AT 0 +0
A ST 4 +1 4| [mstEr 7 +3 6
FRET 9 +7 9| |=Ar 0 -1
CEFNI 6 +3 6|  [|sEv BT 2 +1 2
SR ET 4 +3 4l e 6 -2 6
AL AT 1 +1 1 B7 3T 1 +1 1
SRIHET 1 +1 1 < AT 0 -1
NI of =0 AFEET 0 +0
/N ET 2 +2 AT 7 +4 7
ST 2 +2 2

J

OFWEHEE TEHRFATRZE2RE (BF 71-2219 FA4ViLM V)




